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o Please check that this question paper contains 16 printed pages.

o  Codenumber given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

¢ Please check that this question paper contains 36 questions.

¢  Please write down the Serial Number of the question before attempting
it.

e 15 minute time has been allotted to read this question paper. The question paper

will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book

during this period.
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Write the name and structure of an aldehyde with four carbon atoms 1n its
molecule.

maammﬁﬁmm%a’tmﬁ%ﬁaqu

List two functions of ovary of human female reproductive system.

ﬁw,w.;ﬁzﬁhq‘hﬁﬁﬁmmﬁ‘ﬁgﬁwﬁﬁwﬁuﬁa
Fifw |

In a food chain of frog, grass, insect and snake, assign trophic level to frog.

A % W w9 AR 9@ % sgadiE wh- 32 AR 4/3 ¥ 1 afk w9 ¥ gy
Ealeirc] 2x108mfs%,?ﬁﬁaﬁmaﬁwmﬁﬁaﬁﬁm

The refractive indices of glass and water with respect to air are 3/2 and 4/3
respectively. If speed of light in glass is 2 x 108 m/s, find the speed of light in
water.

ST =R FIRRT 1 Yt Sen S o % e wews @ wwd ¥

List four stakeholders which may be helpful in the conservation of forests.

aé}aﬁﬁ%ﬁnfm@wﬁmaﬂzwhtuﬂamwaﬁ%: ER I e
H S-S T ) gE TR

The construction of large dams leads to social and environmental problems.
List two problems of each category.
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aad gemn
2 Li(3) Be (4)
3 Na (11) Mg (12)
4 K (19) Ca (20)
5 Rb (37) Sr(38)

() Ca @1 soigen fa=am fefaa)

() RbH HAH soiFM ® G F ATAH AR

(i) Sr ¥ FHI9 B G TR ?

(iv) aqwmﬁ}{ua%awa#mn
v) T T A s e e 32
(vi) Be, Ca, Mg 3R Rb ! 39 TRHIY] & WES ¥ oigd %9 & yafeeq Hifsa |

The position of eight elements in the Modern Periodic Table is given below
where atomic numbers of elements are given in the parenthesis.

Period No.
2 11(3) Be (4)
3 Na (11) Mg (12)
4 K (19) Ca (20) -
5 Rb(37) Sr(38)

()  Write the electronic configuration of Ca.

() Predict the number of valence electrons in Rb.

(1) What is the number of shells in Sr ?

(iv) Predict whether K is a metal or a non - metal.

(v)  Which one of these elements has the largest atom in size ?

(vi) Arrange Be, Ca, Mg and Rb in the increasing order of the size of their
respective atoms.
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Write three different chemical reactions showing the conversion of ethanoie
acid to sodium ethanoate, Write balanced chemical equation in each case.
Write the name of the reactants and the products other than ethanoic acid
and sodium ethanoate in each case.

9., aﬁﬁ_m*xmg%maﬁwvﬁ%amﬁsamwwﬁﬁ%%u 3
(a) ‘X’ﬁﬁmﬁmﬁﬁaﬁmwwmﬁﬁﬁaﬁmu
(b) X F A Y (A WA = 8) F arfurfiran g W v T AUH fafigy |
© ‘X’aﬁaaﬁﬂmcnﬁaqfw@mmaﬁﬁﬁmmmaﬂwgﬁﬁ@m

An element X’ belong to 34 period and group 13 of the Modern Periodic Table.
(a) Determine the valence electrons and the valency of X’

(b) Molecular formula of the compound formed when ‘X’ reacts with an
element Y’ (atomic number =8).

(¢)  Write the name and formula of the compound formed when ‘X’ combines
with chlorine.

1o?mW‘X’ﬁmﬁm35HmmﬁWﬁm 18 ¥ X H WHw 3
maﬂrwsﬁaﬁ—mw'xﬁwmmmmm
&1 Seer@ ot Wi |

An elemerntt ‘X’ has mass number 35 and number of neutrons 18. Write atomic
number and electronic configuration of X’. Also write group number, period
number and valency of ‘X,
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1L, (a) mw.mmmﬁﬁfmqfwﬂm@#aaamﬁ
TR |

@) wﬁ'@ﬁafmwm‘A’mwﬁrﬁaqr
W) A" ST B T e R v 8
@) T C F T ferfn

(@ List two reasons for the appearance of variations among the progeny

(b) A
B
@ Name the bart marked ‘A’ in the diagram.
(i) How doeg ‘A’ reaches part ‘B’ ? ‘
(iii), State the importance of the part ‘C.#<
(iv) What happens to the part marked ‘D’ aftep fertilisation ig over ?
31/3 6
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12, S I qftm fafae wftsT =1 wafte 1 TP yem w0 F 77 g ger 3
HETIT BT § 7

Define reproduction. How does it help in providing stability to the population
of species ?

13, W%W%Hﬁﬁﬁwaﬁaﬁw”mﬁm" (YTS9) &) =ren 3
Hifey | ﬁ%ﬂﬁmﬁm%mﬁ@a@aﬁmﬁﬁﬁﬁ‘mﬂaﬁ’ﬁ
afshan fFe goR v Bt &2

Explain the term “Regeneration” as used in relation to reproduction of
organisms. Describe briefly how regeneration is carried out in multicellular
organisms like Hydra.

14, “aw%a@ﬁ--‘ﬁm'aﬂt‘m’wgé%r’ W FH H g 3
ShifaT |

“Two areas of study namely ‘evolution’ and ‘classification’ are interlinked”.
Justify this statement.

15. mﬁmmmmm%amwﬁm@mﬁﬁ%? 3

How do Mendel’s experiment show that traits are inherited independently ?

16. W%Wﬁﬁam%%ﬁaﬁaﬁgﬂmﬁwﬁaﬁm%aw 3
mmﬁmaﬁ%ﬁa—w%%ﬁﬁamﬁ%ﬁﬁmﬁ
oM & FE-ou& FT e §) A 5 e g vl fitferfiEi ¥ g
WWWWWH%W%,WQW%WW@@
TARRT ¥ | ST Th Hewd! W A T F I o’ w1 o wem
W%mﬁﬁwﬁm%aﬁrwwmw%awg@wﬁﬂﬂﬂm
w2 TE TH-TSH & A & Freflwr # Iy F faw o weR 5 5
W@l 2l
(a) Eﬁmwmmwaiwmﬁmm%?

(b) R el F Frme frer F g ok et go-if w1 mee
fafaw | 1
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the survival ot only of himself byt also of the entire living 0rganisms on the

mother earth. One of your classmates ig an active member of ‘Eco club’ of your

school which is creating environmenta] Awarcness amongst the school students,

Spreading the Same in the society and algo working hard for pPreventing

environmenta] degradation of the surroundings,

(&) Why is it necessary to conserve ouy environment ?

by State the importance of green and blue dust-bing In the safe disposal of
the household waste,

(%)/’ List two values exhibited by your classmate who g an active member of
Eco-club of your school.

1sgagwﬁ%mwmmmwavhﬁﬁmﬁﬁmwwﬁwm
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19. 12cmﬁwgﬂﬁwmmﬁmﬁwmmwmﬁmmﬁ?mm .

T %
@ W&Wﬁmﬁqﬂmwvﬁmmm?

(i) aﬁwmﬁmmﬁ‘ﬁwﬁfﬁa@mmm@? 39 Rt H
it s i & ferg fortw et i

(iii) wﬁmmmmﬁmﬁ%sﬁm%mﬁzmm@mwﬁm
T ? mﬁwaﬁg&%mwﬁmﬁ%mtﬁmm@ﬁm

mﬂaﬁﬁ:{maﬁ@?ﬁgﬁ,g@uﬁmaﬂtmﬁﬁﬁﬁmﬁaﬁaﬁm:

It is desired to obtain an erect image of an object, using concave mirror of focal
length of 12 em.

@®) - What should be the range of distance of an object placed in front of the
mirror ?

(i) Will the image be smaller or larger than the object. Draw ray diagram
to show the formation of image in this cage.

(iii)y Where will the 1mage of this object be, if it is placed 24 em in front of the
mirror ? Draw ray diagram for this situation also to justify your answer.

Show the positions of pole, principal focus and the centre of curvature in the
above ray diagrams.

fohre =t i fafaw) o7 g yor B 2 Ui HifSe foF Samwn fmy
YR o & wwda § gum yeqm a9 82

Define evolution. How does it occur ? Describe how fossils provide us evidences
in support of evolution.

TR R TR YA BT FUF HifT | uﬁaﬁmm%wﬁm

21.
HH| H Ieerg HITAT |
What is placenta ? Describe its structure. State its functions in case of a
pregnant human female.
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22. ;ﬁs‘aﬂaﬁ?ﬁﬁm?’mﬂwm%sq%mnﬁmﬁﬁmﬁémﬁﬁm
*Q’w%aﬁﬁwmaﬁwﬁaﬁﬁm@mﬂﬁwmaﬁgm
A R’ oA &) RS T Y, TFA R W, F SEAHEE F S ) qon
Sel % qF ] T 2 P, Q 3R R &I veaifiu iR wfmfem safpaes &
TS iR fafen )

A carbon compound ‘P’ on heating with excess conc. H,S0, forms another
carbon cempound ‘Q’ which.on addition of hydrogen in the presence of nickel
catalyst forms a saturated carbon compound R’. One molecule of ‘R’ on
combustion forms two molecules of carbon dioxide and three molecules of water.

Identify P, Q and R and write chemical equations for the reactions involved.

23. ITHUSHIY STadT & ? ¥ GREET 1 ST h A9 @ W wrghes 5
/m@ﬁwﬁm

(@) TR F1 feufeqmn

(b) AT YT v foafiay gata

HT I & WL & for o wifn

What is atmospheric refraction ? Use this phenomenon to explain the following
natural events :

(a)y Twinkling of stars

(b Advanced sun-rise and delayed sun-set.

Draw diagrams to illustrate your answers.

26 (@ e o S w7 R R 5
B) 30 cm PIFH T B FE ST AF 6 om WEN F Frelt v 7 Gfars
THIH H2 A 15 em T W Forrar 71 9 Fean & s A T I7EN
mﬁﬁﬁﬁ‘aﬁqﬁamuﬁﬁwmmmﬁm|
@ ST feoifs 3wl o co % Ry e o iR

(37" Define focal length of a divergent lens.

(by A divergent lens of focal length 30 cm forms the image of an object of size
6 cm on the same side as the object at a distance of 15 cm from its optical
centre. Use lens formula to determine the distance of the object from the
lens and the size of the image formed.

(g/ Draw a ray diagram to show the formation of image in the above situation.
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SIS, 710, qege, WigR, s BR, sfiergs |

wﬁ?ﬁwvﬁwmﬁwmﬂmﬁ%ﬁwﬁaﬁ,ﬁsﬂﬁw
T w E wE ¥ SR g | o s 9T BifeT

(@) SISTeRY, Herig, siwigs b) T, qAiH, Hewe gr
(© SIS, WigR, e (@) HAP, S, Figw

A student while observing an embryo of a pea seed in the laboratory listed
various parts of the embryo as given below : :

Testa, Tegmen, Radicle, Plumule, Micropyle, Cotyledon.

On examining the list the teacher remarked that only three parts are correct.
Select three corr ect parts from the above list: = -~ - = -

(@ Testa, Radicle, Cotyledon (b) Tegmen, Radicle, Micropyle
(¢)  Cotyledon, Plumule, Testa (d) Radicle, Cotyledon, Plumule

26},Irﬁ:'mﬁ%é}nﬁwmﬁmaaﬁmﬁ%wﬁ§ﬁ%m_mm
IBRERECEL "Wm'%,?ﬁamsﬂﬁ@mﬁaﬁ?
@ TSR R et : (b) 3T AR IwHEH=
(© 3T 3R zAx @ et ek e

If you are asked to select a group of two vegetables, out of the following, having
homologous structures which one would you select ?

(@) Carrot and radish (b) Potato and sweet potato

(© Potato and tomato (d Lady finger and potato
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(a) i3 ze | (b) . ZA 3 2D
(© i, ze 3R 2D ) sr, ZA R 2D

In the following ray diagram the correctly marked angle are :

(a) Ziand ze (b) <A and z2D
() 4, Zeand £D (d «r, ZA and 2D

2§/mmmﬁﬁfwmaﬁvﬁ(ﬁ)%mm%ﬁa@gﬁﬁm 1
T fRT0 &7 99 eRfEd w%d €, 991 T8% YU ¥ deAedl SuedT S
(< v) 3R Fia FI07 (Le) oft A9 1 3M9F JeoN F NUR oTvH W Frewd o7
g fF .

(@) 49T £r 8, T Le F AW TR 2
(b) BRI £r ¥, WG Le & TN UK &
© £iT3 % LeQ, T £r & AW qUH 2 3
@ ATEE LoR TG or ¥ AT TERE
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In your laboratory you trace the path of light rays through a glass slab for
different values of angle of incidence (£ 1) and in each case measure the values
of the corresponding angle of refraction (£ r) and angle of emergence (£ e).

Ont asis of your observations your correct conclusion is :
(a-)}/ﬁ more than /r, but nearly equal to Ze

{h) ~i1is less than Zr, but nearly equal to Ze

(¢) Ziis more than se, but nearly equal to Zr

(d) ziis less than Ze, but nearly equal to £r

Ty, ST 90 A wEE g W w9 % fag o g g fee 1
ey fava o it foRelt 7@ W W F €1 0] W owre gfafers fa
TﬁWﬁ’ﬂéa
(@) URd uRafda iR Brer B T
\. b) e 3R B E
(c) Tyt IR S gar ?

@ e et ereafis e g

To determine the approximate value of the focal length of a given concave
mirror, you focus the image of a distant object formed by the mirror on a

screen. The image obtained on the screen, as compared to the object is
always :

(a) Laterally inverted and diminished

(b) Inverted and diminished

(¢) Erect and diminished

(d) Erect and highly diminished
Mmmmmﬁﬁaéﬁwﬁw@ﬁmﬁaﬁwm 1

yfafars S9a o9 g1 W@ W wikigd R faw T o@ afe ok foerd wRie

g g § Rl A W At gF w g fEl @ SH uE W wiewiad

ST T GHE <, T A gy U At Sl 8 foh g -

() UG H °Ie T TR HI R LR |

(b) H HI A4S W UE G X HIH |

@© o9 % drer w1 gd &l feen § wwei

@ 9 3R I < w g B AR R |

313 13 P.T.O.
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Suppose you have focused on a screen the image ot candle flame placed at the
farthest end of the laboratory table using a convex lens. If your teacher
Suggests you to foeus the paralle] rays of the sun. reaching vour laboratory

table, on the Same screen, what you are expected to do ig to move the -
(@) lens slightly towards the screen

(b) leng slightly away from the Screen

(© lens slightly to wards the sun

(d) lens and Screen both towards the sun

(@ Castor oil and calcium hydroxide

(b) Turpentine oil and sodium hydroxide
© Castor oil and sodium hydroxide

(d) Mustard oil and calcium hydroxide

31/3 14
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e red litmus paper and the blye litmus paper

(© There is no change in the blye litmus paper and the red litmys paper
turns blue,
(d No change in coloyr ig observed in hoth the litmus papers.

(@) Sodium chloride, calcium chloride

(b) Potassium chloride, sodium chloride
(© Sodium chloride, magnesium chloride
(d Calcium chloride, magnesium chloride

34, Hﬁé@ﬁﬁwﬁﬁﬁaﬁaﬁﬁmwﬁ;ﬁfwwww@ﬁmﬁwﬂﬁ 2
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35. 2.50m°ﬁ'@ﬂaﬁ§m10cmm§ﬁ$mm ﬁh%mﬁrﬁ%ﬁ‘o
¥ 15 om g0 T from ¥ maﬁuﬁrﬁmaﬁﬁwﬁaﬂimmaﬂﬁ%m
fowo s @ifag) T NG H YHE ¥ 0, &1 BIFd F 9] giafs 7
ST SR sife | | .
An object of height é.5 cm is placed at a distance of 15 cm from the optical
centre ‘O’ of a convex lens of focal length 10 cm. Draw a ray diagram to find

the position and size of the image formed. Mark optical centre ‘0’, principal
focus F and height of the image on the diagram.

36. ﬁim@mmmmiﬂwﬁmﬂ@@mm
H e €1 mﬁwﬁaﬁﬁqﬁm,ﬁ%eﬁwﬁéﬁw
#vﬁm%ﬁwﬁm%aqmﬁﬁweﬁql B ATl Tt it
1 THrfTes gt off fafau |

A student adds a spoon full of powdered sodium hydrogen carbonate to a flask
containing ethanoic acid. List two main observations, he must note in his note
book, about the reaction that takes place. Also write chemical eguation for
the reaction.
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